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Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

eonR - I /PART -1

AW i QR TB,NEI, YVIOR0. 20x1=20
) » 2R Q )
(i) 3R B TP, SOPNYY BRTHIT YWITHIW, SO NI WTT oD
Roded B WYNY YOZTIT, WTWO.

Note : (i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.
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1. RAeoas (3R03) VTV SeddT :

(a) BTPET IPRFS (b) BRI TR
(0 ©BIF A (d) RINODS AT

The author of scarcity definition is :
(a) Alfred Marshall (b) Lionel Robbins

(c) Adam Smith (d) Samuelson

2.  AO0TWREIONT SHFFZOIW 20T :

(a) ©¥ seFsS (b) TETR SHETI
(€ @IS Slalarct (d) [P SHFT

Traditional economy is a :
(a) Command economy (b) Monetary economy

(c) Subsistence economy (d) Market economy

3.  UBIIINAWD, XeBI APTORFT DT DCATRN 0BT
(a) UTOINIZOR B[N CFTER
(b) BeBBoD TNECBTED
(c) VWS-JRONY Y FeRNY B[NFeFTED
(d) 2oDINY B[NFessend

Necessaries, comforts and luxuries are :

a) Classification of utility

(

(b) Classification of demand

(c) Classification of free goods and services
(

d) Classification of wants
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ONEREN0D QT g (BSRWT® RTHX') ROTT :

(a) BeRF = mqsé (b) BeRE > m%@

() =T 8BS — AT 8BS (d MVn=TVn-TVn-1
Consumer surplus is :

(@) Demand=Supply (b) Demand > Supply
(c) Potential Price — Actual Price (d MVn=TVn-TVn-1

0330350 TOWNI emwofoaiéofm msémmﬁ :
emwofmgéofm ézs%ﬁm @dowmgpﬁ

(a) o)

(b)  2uE3) YVTOINTZOIND FRTOIPNRLY TRTORRITTI
(

(

a

C) i) YVTOINTZOIN TIFHD, TLOTIT
d) 2.3 GOBOINTZOID NOFWI, LTI
When marginal utility becomes Zero :

(@)  The total utility starts increasing

(b)  The total utility starts decreasing

(c)  The total utility reaches the minimum

(

d) The total utility reaches the maximum

BeRIONY TyFR) VBOOT BREOICOMHTT !
(a) Se@? BT e NOT O

(b) eSeRd FTTea3 e TAF WO

() BeRd [TTeBoD WMor ST

(d) ©de BeiE SeBealcdnotnt BOF

Increase in demand is shown by :

(@) The highest point on the demand curve
(b)  The lowest point on the demand curve
(c)  Shifts of the demand curve

(

d) Movement along the same demand curve
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7.  O3%wen BeRE0D ©7 %@m@ws@eg@ 90TOIE :
(a) X DB Y FoNRWD WIINW
(b) X =BV Y ZoTDNE TOTeF WBONWD
() X =BV Y ZTDNE FOLORRPHDY
(d) X =B Y TR DRI
When cross elasticity of demand is negative :
(a) XandY goods are substitutes
(b) X and Y goods are perfect substitutes

(c) Xand Y goods are not related

(d) Xand Y goods are complementary

8. ABRUTT WODITY /ToTY :
(a) Bem© oTH B3 TEOINTT
(b) e e =TITED TRTT
() et =FBesSodn BedF STTeBoD), HeOWIT
(d) SedT QP
At the point of equilibrium :
(a) Only one price prevails
(b) Quantity demanded = Quantity supplied

(c) The demand curve intersects the supply curve

(d) All the above
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11.

12.
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NTITS DOTT

(@) DIIOD TR, (b) SoZwg

(©) VTOINTZ0N To3 (d) ©vBOINEZ0H TS
Production refers to :

(a) Exchange value (b) Technology

(c)  Destruction of utility (d) Creation of utility

2.2), 0PI, WESRRLTD HOTT, 0IPTV :

() NG BookReRDBOD YVTITETD WOBNYR, AFFORTYS
(b) BRXD B[eIIHTI, ERWTV

(€) DORETZoD, AETOWTVT

(d) ©TODNRYI, SLROTVS

A successful entrepreneur is one who :

a) Decides different combinations of factors of production
b) Pays the lowest wage

(
(
(c)  Accepts innovations
(

d) Avoidsrisks

ROPH0 4T B, AT, GINATOR BECRWE :

() TVC/Q (b) AC/Q ( TC/Q (d) TFC/Q
Average fixed cost is obtained by dividing :
(@) TVC/Q (b) AC/Q (© TC/Q (d) TEC/Q

), dpewm BFTea3 HOW FTONOMDIT.
(a) OQesFormk ATPRO B WyPead (b)) WRBH TR0 [eF [TTead

(c) RoomO [ ByTeas (d) =PBEIS D =[FTes

is called the planning curve.
(@) Long run average cost curve (b)  Short run average cost curve
(c) Average cost curve (d) Marginal cost curve
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13.

14.

15.

16.

20T 50%0333 ﬁd)&@@@ﬁﬁ@a TOOFWTITH 030N BTT :
(a) MR=AR (b) MR=AC (c) MC=MR
A firm can achieve equilibrium when its :

(a) MR=AR (b) MR=AC (c) MC=MR

TOTREE FFRCIONY, LI =[FTeB0M :

(a) BIRNDTN YYLRTINOTT (b) ©ozN
(c) e DTIN YYLPTINTOTT (d) A3
Under perfect competition, the demand curve is :

(a) Downward sloping (b) Vertical
(c) Upward sloping (d) Horizontal

YT, RIJ,ZO AWT TN MOV :

(a) DIAENTOTT DEEeees (b) QY
(c) SOTpeor FFhoees (d) DzRR,
Product differentiation is the salient feature of :

(a) Monopolistic competition (b)  Duopoly
(c) Perfect competition (d) Monopoly

BRI, YFITNT S 3e0T, BIA0I :
(@) W8 DB =€
@ -
(b) TR Jed WV SHFT Jed
(c) ©STROD By WTRen
(d) &S I Berawoe
The central problem of Macro Economics is :
(a) Interest and Money
(b) Monetary Policy and Fiscal Policy
() Income and Employment
(

d) Price and Output

(d)

(d)

MC=AC

MC=AC
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0¥ S0 APFOIOD %@poswmol DTORELR, 3T, YOTOIRENATR),
(a) YUTITS WY DWF

(b) SDOF 0NTT ) Ben=HET

(€ W DD TRRS

(d) 2ot Be@d DI i) BRTB

To explain the simple theory of income determination, Keynes used
(a) Production and Expenditure

(b) Multiplier and accelerator

(c) Consumption and investment

(d) Aggregate demand and aggregate supply

WPE TONFR) DB SWNT BOWOTFB/IY, DTORETT.
(a) STROD, YVPITOD (b) DF, BRBE

(c) wFE, SO (d) 0WF, YWPTOD
Consumption function explains the relationship between and

(@) Income, Savings (b) Expenditure, Investment

(c) Consumption, Income (d) Expenditure, Savings

TEOTHA ESOI YTOOT VONOSHOWETT

(a) Beol ewOT (b) 8RN TOOD
(c) 3eow RTTT (d) oo, BTFT
Monetary policy is controlled by :

(a) Central Bank (b) Private Sector

(c) Central Government (d) State Government

[ Turn over



1350 (NP) 8

20.

21.

22.

23.

24.

25.

30T, B08 RSP T THED, e JORBISOMIT -
(a) TRF JIJE (b) ZBeds I=e

(c) =R JIRE (d) =R [RE

In zero based budget every year is considered as a :

(a) New year (b) Academic year

(c) Base year (d) Financial year

@on - II/PART - 11

CIRTYTRTTR D& TINT, WEOA W TP, F05, 30 IR,

Answer any seven questions and question number 30 is compulsory.

ejeicsf TRRCO'S SHETIOD TVETVITI, PR,

State Alfred Marshall’s definition of Economics.

WODNING ToTN SRR ?

What are the causes of wants ?

HeRiod RSTWTIYE AFRT D) ?

What are the types of elasticity of demand ?

2363 B3| ToOWOE QOTTED ?

What is break even point ?

A TITTRT DTE wé%)p\%ri@éo o3P ?

What are the two conditions for price discrimination ?

7x2=14



26.

27.

28.

29.

30.

31.

32.

33.

TOERTD NYINTD 0BT 9

What is transfer earnings ?

@wﬁ)—m@ﬁ ROTTER 2

What is quasi-rent ?

TRBEIST BRTITAL W IINSF (WY FIF W) I BRT ER’.
Give the formula for Marginal Propensity to Consume.
TBORPEZT R JODOTLHT ATIND 0IPPYR) ?

What are the instruments of quantitative credit control ?

Bp, BOTIRTT TRS S0R0H TIRIFI, I9A.

-

State the Definition of a tax According to Prof. Seligman.

on - III/ PART - III
C3RTTTETR D TINT, YBOR W TY, T3 40 FregoHITNT.

Answer any seven questions and question number 40 is compulsory.

SBRSF s\gs d@i mémémﬁ é)dac;pcj @3@@71%3553% LOSCDA.

Examine the criticisms against Adam Smith’s wealth definition.

SN, SHFTZON VVERONTI, DTOA.

Explain the merits of a mixed economy.

YVTITITD m;ﬁa@ =3Bess &)5?530l RRWHTT ?

What does a production possibility curve refer ?

1350 (NP)

7x3=21
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34.

35.

36.

37.

38.

39.

40.

NHS® mgodrais 21} O 3T WTWO.

Write a short-note on Giffen Paradox.

BIRTE, FODTY BEROT B3SO, T APFOIOMIT 2

How is equilibrium price determined in the market period ?

msmd%s FOORNFNYY SRR ?

What are the functions of entrepreneur ?

DTTWRBR, AODOGRT DR IR ?

What are the methods of controlling monopoly ?

BorbREoD TRBFES BTEBINLE POHOODH I CIPFH) ?

What are the limitations of Marginal Productivity Theory of Distribution ?

Fe' s ATOIT AOTE® 9TBO BLUNFITTI YNIBNR SRR ?

What are the assumptions of Keynesian theory of Simple Income Determination ?

2I083ET° wéwﬂ@ofo @haocﬁc?ﬁeém@l NWOX.

Explain the difficulties of barter system.



41.

42.

43.

44.

DU TINER, WO
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won - IV/PART -1V

Answer all the questions.

()

RBIRTOTT BHF MY, I CIWR)TOBOL ToL), BVIRONTIZY, DTOR.
P
BNVSOTT [IpeF TS® 030D DORTT, WBBRODNR DTOA.
Explain the features and any four merits of socialism.
OR
Describe the Law of Diminishing Marginal Utility with a diagram.

WIOBT BFCeS QFERBOD LNIBND C3PR)R) 7  WTITT BTTeL WTWees
PTOIRENA TRTBTS FTBRCOTB/I), DTOR.

Do)
SeRFOD 233 %@m@ﬁ%é BRTIT TOWOEF amswm& DFOTTON QDTOR.

What are the assumptions of indifference curve analysis ? Explain consumer’s
equilibrium using indifference curve approach.

OR
Explain the point method of measurement of price elasticity of demand in detail.
23eRTOD JODTTJIZ), SV, WeRT JODTNT WTHOTNHD 03P ?
Slotnn)
BIZRCOT BS0D IFFOINTD, WIRROON D|/OX.
State the law of demand. What are the exceptions to the law of demand ?
OR

Explain the determination of equilibrium price with a diagram.

a:u:lraeﬂdow: ROTTED ? NG ms@@gm@mol NWOA.
OO

SO%OSDJ PPLWT BOFY SBPRI, DTOA.

What are isoquants ? Describe their characteristics.
OR

Explain various costs incurred by a firm.

[ Turn over
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45.

46.

47.

(a)

12

TOBROE ﬁdmmo& PRONY YURTHONY BS P, Rermwsd, Ien
ébqsrommrbgd 9

[Slotvp
é)%mdmé déaﬁjwéﬁod) ©RONY 35S D) Bez e @C,SF@;’D@%OSDR‘D% QDWOA.

How is price and output determined in the short-run under perfect
competition ?

OR
Explain the price and output determination under monopolistic competition.
OTORFONI'S LIPRNOL JOPTRT, TOeFA.
[Slofvo
2.0, Ae ONWT [PITENE J0NTTR, LT FFaooN TOCFA.
Examine Ricardian theory of RENT.
OR

Critically examine J.B. Say’s Law of Markets.

BT Tpeo (TYOESES) ATOTIIY, WWOA.

[Slofvo
BHET JeS0N (B SBRDY) ONFYTOTTR TR emcgesmfm& QDTOA.
Describe the quantity theory of money.

OR

Explain any five of the objectives of fiscal policy.

-00o0-



